Chem 11
Balancing Chemical Equations
Answer Sheet


Practice Problems

Show how you arrive at your answer.

1. How many hydrogen are indicated: (NH4)2SO4
4 x 2 = 8

2. How many oxygen are indicated: 3Ca(NO3)2
3 x 2 x 3 = 18
3. How many nitrogen are indicated: 2NH4NO3
(1 + 1) x 2 = 4
4. How many atoms in total are indicated: 3Mg3(PO4)2
3 x 3 + 1 x 2 x 3 + 4 x 2 x 3 = 39
Balance these equations:

1. Zn(s) + 2HCl(aq) → ZnCl2(aq) + H2(g)

2. 2KClO3(s)  →  2KCl(s) + 3O2(g)

3. S8(s) + 24F2(g)  →  8SF6(s)

4. 4Fe(s) + 3O2(g)  → 2Fe2O3(s)

5. 2C2H6(g) + 7O2(g)  →  4CO2(g) + 6H2O(g)

6. BaCl2(aq) + Na2SO4(aq)  →  2NaCl(aq) + BaSO4(s)

7. 3Mg(s) + N2(g)  →  Mg3N2(s)

8.  2CH3OH(l) + 3O2(g) → 2CO2 + 4H2O (g)
